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' Twao blocks and u pulley are connected by inextensible cords as
shown in Fig. 15.30 and P15.31, Block A has w constant acceleration of
15 mm/s* and an initial velocity of 120'min/s, hoth directed downward. De-
termine {a) the number of revolutions executed by the pulley in 6 5. (b) the
velocity and position of block B after 6 5, (¢) the acceleration of point € an
the dm of the pulley at ¢ = 0.

Collar A moves npward with a constant velocity of 1.2 w/s. At
the instant shown when # = 257, determine (#) the angnar velocity of rod
AB. 1) the velocity of colly B.

q - Knowing that crank AB has a-constant angular velovity of
180 rpm counterclockwise, determine the angular velocity of rod BD and the
velocity of collar D when {a2) 6 = 0, (&) § = 90°,
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A 3-in.-radius drum is rigidly attached to a B-in-
radius drum as shown. One of the drums rolls without sliding on the surface
shown, and a cord is wound around the other drurn. Knowing that end E of
the cord is pulled to the left with a velocity of 6 in./s, determine (a) the
angular velocity of the drums, (b) the velocity of the center of the drums,
(¢} the length of cord wound ar wnwound per second.

5 Enowing that at the instant shown the angular velocity of rod
AEB is 15 rad/e clockwise, datermine {(a) the angular velocity of rod BD,
(b) the velocity of the midpeint of rod BD.
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6 A 3~in.-radins drum is rigidly attac: i
. : y attached to a 5-in.-
radius drum as shown. One of the drums rolls without sliding on the surface
:shown, and a cord is wound areund the other d
Instant shown end D of the cord has 3 velocity of 8 in./s and an scceleration
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# Arm AR has a constant angular velocity of 16 rad/s counter-
eloclowise. At the instant when @ = 0, determine the acceleration () of collar
D, (b} of the midpoint G of bar BD.
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8 Rod AR of length B = 15 in. rotates about A with & constar
alockwise angplar velocity o, of 5 rad/s, At the same time, rod BD of length
r =38 in. rotates about B with a constant counterelockwise angular velocits

W of 3 rad/s with respect to rod AB. Knowing that 8 = 607, determine for the
position shown the acceleration of point D,
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Knowing that at the instant shown the rod at-
tached at B rotates with a constant counterclockwise angular velocity e of

6 rad/s, determine the angular velocity and sngular acceleration of the rod
attached at A.
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